Hydronit’

www.hydronit.com

2016
Hydraulic Electropumps
DC Bull



- ®
sales@hydronit.com * +39 02 320 625 145 )’l_.'drﬂnlt

Why choose Hydronit?

4 Complete focus on hydraulic components & modular power packs and
electropumps design, continuous research, development and innovation

4 Expertise on hydraulic applications; design and development of customised
solutions, including special manifolds, ex-proof units, proportional systems,...

4 QOrganization fully based on processes and Total Quality Management
principles, certified 1ISO 9001:2008 and 1ISO 50001:2011

% Lean and energy efficient product design and manufacturing

4 Mass production and cost optimization: hundreds of thousands of Hydronit
modular power packs and electropumps are now reliably running worldwide

4 Flexible marketing policy: supply of loose hydraulic components and power
packs either in kit or fully assembled and tested in accordance with Machine
Directive 2006/42/CE

< Distributors, associate companies and partners in over 50 countries worldwide

L CERTIFICATION NETWORK

CERTIFICATE




- ®
sales@hydronit.com * +39 02 320 625 145 )’l_.'drﬂnlt

Hydronit - The sustainable factory

% Production is carried out in a building of
13000 m’ requiring almost no use of
fossil fuels to operate

4 The hyper insulation of the structure
through the use of materials, mainly
natural, such as wood and cork, ensures
a consumption of only 7,4 kWh/m°’/year
for winter heating and for summer cooling
only 3,2 kWh/m’/year

4 A heat pump provides high efficiency
thermal regulation

+ A system of 60 solar panels on the roof of the
offices provides 13,8 kW of electrical power that
contributes about 60% of the electricity
consumed by the plant for its own operation

+ Solar thermal panels provide hot water

A

+ The automatic wharehouses and the line of
semi-automatic assembly increase efficiency, reduce process paperwork and
human errors, thus ensuring compliance with stringent quality standards and
repeatable test results




- ®
sales@hydronit.com * +39 02 320 625 145 )’gdrﬂnlt

Continuous innovation

Hydronit Srl, in the pursuit of excellence, have dedicated a large part of their profits to research
and continuous development of the product, in order to increase the performance, efficiency,
durability and reliability over time, and for the continuous improvement of the organization,
constantly monitoring parameters over thirty indicators of the efficiency and effectiveness of the
organization as a whole.

Nanotechnology surface treatment o

plasma (+)

Hydronit Srl, in partnership with research
institutions and external bodies, co-financed by
the Lombardy Region, has initiated some years
ago a project for the development of
advanced applications of plasma surface
treatment of metallic materials. In short it is
the application of nanotechnology to hydraulic
equipment to improve the performance of our
units. We have obtained excellent results in the
following fields: improvement of the pressure
tightness of the aluminum die-casting;
improvement of the characteristics of
surface hardness of the treated components
and a remarkable increase in the corrosion
resistance of the surface. More information is
available by contacting our sales department.

film (-)
e

substrato

Treated manifold Nanotech Standard manifold

Exposure to salt spray > 300 hours

Product Configurator

Hydronit Srl has developed over the years a
smart Product Configurator which allows the
user, from a PC or mobile device web browser:
- to simply and quickly create the speaking

)‘g—”:hﬂ i} ﬂﬁm: lesh@hdronioom  Logout

”””””””” CONFIGURE YOUR PRODUCT code of the unit starting from the customer's
ki 5 Input | Motor | Manifold  Pump  Cavity = Tank [m] SpGlelC requrementS

— T - to limit the possible errors in the product
m— A e ez B configuration

- to obtain quickly the unit description and
parts list, the hydraulic diagram, instant 3D
preview, weight, dimensions, price and terms
of sale. This facilitates a reduced time-to-
market and provides full information on the
power unit to be realized.

The access to the web configurator is offered
free of charge to official partners of Hydronit Srl.




- ®
sales@hydronit.com * +39 02 320 625 145 )’gdrﬂnlt

Hydronit hydraulic range

Three main families: Power Pack Micro, Power Pack Compact, Electropumps Bull sharing
the most core components allowing mass production and stock optimization.
Design, research & development according to flexibility, modularity and efficiency principles.

AG & DC MICRO hydraulic power packs

@ Extremely compact and lightweight

# Flow: 0,2 ~ 6 I/min

% Pressure up to 250 bar

# DC motors up to 2,2 kW

@ AC motors up to 1,8 kW

# High modularity: single & double acting & reversible
circuits from the same micro central manifold

# Main valves on one side in most configurations for
enhanced positioning in small machines

AC & DC COMPACT hydraulic power packs

% Over 10 years of serial production

% Hundred of thousands of power packs running worldwide

# Flow: 0,2 ~ 25 I/min

% Low pressure drop

@ Pressure up to 300 bar (or more in special application)

# DC motors up to 4 kW

# AC motors up to 7,5 kW

% High modularity: single & double acting & reversible
circuits from the same micro central manifold

% |deal choice for hydraulic distributors & assemblers

DG electropumps

40,15 ~ 4 kW, 12V e 24V DC motors (same used in
Compact and Micro power packs)

% Forced ventilation for high cycle times

% 0,19 ~ 7,9 cc/rev gear pumps (same used in Compact
and Micro power packs. Available also lateral ports
pumps)

@ Option: relief valve, starter which, thermal protection, foot
mounting support




sales@hydronit.com * +39 02 320 625 145 )il_.ldrl:lnit®
ELECTROPUMPS BULL 80 speaking code

EPB8O 0,3 24DC_1/5100 £60543003

EIectBrzﬁump DC Electric Motor Gear Pump Accessories
Series 80
DC Motors G Series Gear Pumps Accessories
01512DC_T 12VDC 150W + thermal prot. GMO01 0,19 cc/rev gr0 MIR63060EM pressure gauge 60bar + shut-off
01524DC_T 24VDC 150W + thermal prot. GMO02 0,26 cc/rev gr0 MIR63160EM pressure gauge 160bar + shut-off
0312DC_ T 12VDC 300W + thermal prot. GM04 0,38 cclrev gr0 MIR63250EM pressure gauge 250bar + shut-off
0324DC_T 24VDC 300W + thermal prot. GMO6 0,64 cc/rev gr0 MIR63315EM  pressure gauge 315bar + shut-off
0512DC_T 12VDC 500W + thermal prot. P0201 wired remote control 2 buttons
0524DC_T 24VDC 500W + thermal prot. P0202 wired remote control 4 buttons
0812DC_T 12VDC 800W + thermal prot. piSsriesiCeanRumas E60543003  foot mounting support
0824DC_T 24VDC 800W + thermal prot. KM0.2 0,26 cclrev gr0 MDe20™ direct acting relief valve
KM04 0,38 ccirev gr0 VURO1C in-line check valve 1/4 BSPP
KMOG 0,64 ccirev gr0 VUR02C in-line check valve 3/8 BSPP
KMOS 0,88 ccirev gr0 VURSREOGC  in-line check valve 9/16-18UNF
DC Motors Options K13 (1,25 ce/rev gr0 STBO1 in-line bidirectional flow valve 1/4 BSPP
/5100 starter switch KM15 1,54 cclrev gr0 STB02 in-line bidirectional flow valve 3/8 BSPP
/R100 reversible starter switch STBSAEOG in-line bidirectional flow valve 9/16-18UNF

BFCSAE0801 in-line mounting SAE08 manifold 1/4 BSPP

H Series Gear Pumps o - =
BFCSAE0802 in-line mounting SAE08 manifold 3/8 BSPP

HMO1 0,19 cc/rev grO
HM02 0,26 cc/rev gr0
HM04 0.4 cc/rev gr0
HMO06 0,63 cc/rev gr0
HMO8 0,8 cc/rev gr0
HM12 1,2 cc/rev gr0
HM15 1,5 cc/rev gr0

R Series Gear Pumps
RM03 0,32 cc/rev gr0
RM0S5 0,49 cc/rev gr0
RMO7 0,64 cc/rev gr0
RM0S9 0,88 cc/rev gr0
RM13 1,25 cc/rev gr0
RM15 1,54 cc/rev gr0

Reference hydraulic scheme

P




sales@hydronit.com * +39 02 320 625 145 )il_.ldrl:lnit®
ELECTROPUMPS BULL 114-125 speaking code

EPB114 2,224DC_1/5190 £60943006

EIectBrzﬁump DC Electric Motor Gear Pump Accessories

Series 114-125

DC Motors Gear Pumps Accessories
1612DC_T 12VDC 1600W + thermal prot. K09 0,89 cclrev gr1 MIR63060EM pressure gauge 60bar + shut-off
1612DC_FE 12VDC 1600W with cooling fan + thermal prot. K12 1,27 cclrev gr1 MIRG3160EM pressure gauge 160bar + shut-off
21120C_ 1 12VDC 2100W + thermal prot. K16 1,66 cc/rev gr1 MIR63250EM pressure gauge 250bar + shut-off
2,112DC_FE 12VDC 2100W with cooling fan + thermal prot. K21 2,17 cclrev gr1 MIR63315EM  pressure gauge 315bar + shut-off
22240C T 24VDC 2200W + thermal prot. K271 2,8 cclrev gr1 P0201 wired remote control 2 buttons
2224DC_FE  24VDC 2200W with cooling fan + thermal prot. K32 3,3 cclrev gr1 P0202 wired remote control 4 buttons
324pC_T 24VDC 3000W + thermal prot. K37 3,8 ccirev gr1 E60543006  foot mounting support
324DC_FE 24VDC 3000W with cooling fan + thermal prot. K42 4,3 ccirev gr1 UMDC20" direct acting relief valve
4120C_T 24VDC 4000W + thermal prot. K50 5,1 cclrev gr1 VURO1C in-line check valve 1/4 BSPP
412DC_FE 24VDC 4000W with cooling fan + thermal prot. K6,0 6,0 cc/rev gr1 VURO2C in-line check valve 3/8 BSPP

K19 7,9 cc/rev gr1 VURSAEOGC  in-line check valve 9/16-18UNF

G698 9,8 ccirev gr1 STBO1 in-line bidirectional flow valve 1/4 BSPP
DC Motors Options $TB02 in-line bidirectional flow valve 3/8 BSPP

: Gear Pumps Options STBSAEOG in-line bidirectional flow valve 9/16-18UNF

/8150 starter switch o : g

HL  double pump with hi-lo circuit BFCSAE0801 in-line mounting SAE08 manifold 1/4 BSPP

BFCSAE0802 in-line mounting SAE08 manifold 3/8 BSPP

Gear Pumps Lateral Ports
KL0.9 0,89 cc/rev gr1
KI12 1,27 cclrev gr1
K16 1,66 ccirev gr1
KI21 2,17 cclrev gr1
KI2]7 2,8 ccirev gr1
KI32 3,3 ccirev gr1
KI37 3,8 ccirev gr1
K142 4,3 ccirev gr1
KI5,0 5,1 ccirev gr1
KL6,0 6,0 cc/rev gr1
KL79 7,9 ccirev gr1

High Pressure Gear Pumps
H12 1,2 cclrev grl
H11 1,7 cclrev grl
H22 2,2 cclrev grl
H26 2,6 cclrev gr1
H32 3,2 cclrevgrt
H38 3,8 cclrev grt
H42 4,3 cclrev gr1
H41 4,7 cclrev gr1
H6,0 6,0 cclrev grl
H14 7.4 cclrev grl

Low Noise Gear Pumps

822 2,2 cclrev low noise gr1
$32 3,2 cc/rev low noise gr1
843 4,3 cclrev low noise gr1
$64 6,4 ccirev low noise gr1

: Reference hydraulic scheme
$83 8,3 ccirev low noise gr1

$10 10,2 cc/rev low noise gr1
$13 12,9 cc/rev low noise gr1 P




sales@hydronit.com * +39 02 320 625 145 )il_.ldrl:lnit®
ELECTROPUMPS BULL 151 speaking code

EPB151 3HD 24DC_1/5200 P0201

EIectBrzﬁump DC Electric Motor Gear Pump Accessories
Series 151
DC Motors Gear Pumps Lateral Ports Accessories
25HD12DC_T 12VDC 1600W + thermal prot. K109 0,89 cclrev gr1 MIR63060EM pressure gauge 60bar + shut-off
3HD24DC_T 24VDC 2100W + thermal prot. K12 1,27 cclrev gr1 MIR63160EM pressure gauge 160bar + shut-off
AHD24DC_T 24VDC 2200W + thermal prot. KL16 1,66 cc/rev gr1 MIR63250EM pressure gauge 250bar + shut-off
KL21 2,17 ccirev gr1 MIR63315EM pressure gauge 315bar + shut-off
K127 2,8 ccirev gr1 P0201 wired remote control 2 buttons
K132 3,3 cclrev grt P0202 wired remote control 4 buttons
KI37 3,8 cclrev grt MDC20™ direct acting relief valve
K42 4,3 ccirev gr1 VURO1C in-line check valve 1/4 BSPP
K150 5,1 ccirev gr1 VUR02C in-line check valve 3/8 BSPP
DC Motors Options -
. KL6,0 6,0 cc/rev gr1 VURSAEOGC  in-line check valve 9/16-18UNF
Lo ]S ED K19 7.9 colrev grt STBO1 in-line bidirectional flow valve 1/4 BSPP
STBO2 in-line bidirectional flow valve 3/8 BSPP

STBSAE0G in-line bidirectional flow valve 9/16-18UNF
BFCSAEO801 in-line mounting SAE08 manifold 1/4 BSPP
BFCSAE0802 in-line mounting SAE08 manifold 3/8 BSPP

Reference hydraulic scheme

P




- ®
sales@hydronit.com * +39 02 320 625 145 )’gdrﬂnlt

Some typical applications

The high level of modularity and circuit flexibility of Hydronit hydraulic power packs and electropumps allows you
to use them in the most varied applications: in addition to typical applications of lifting equipment and mobile
vehicles (dump trucks, tail lifts, ...) and in the industrial (presses, machine tools, hoists, hydraulic brakes, ...), even
in the automotive industry (drive doors and hood, suspension, campervan ...), marine (bridges, cranes, doors, ...),
in the alternative energy sector, in agricultural equipment, in the field of construction machinery, in explosions
proof environments. Hydronit has also developed solutions for improvement to equipment previously available on
the market, including the use of proportional components and electronics for forklift trucks, snow plows, brake
and transmission equipment, loading ramps.

DC applications




- ®
sales@hydronit.com * +39 02 320 625 145 )’gdrﬂnlt

General Application

Any. Take care of the correct positioning of the suction filter and pipe to avoid negative

A T [ A pressure at the pump inlet

Environment temperature -15+ +50°C
Fluid for hydraulic use mineral based or synthetic

Hydraulic fluid ISO 6743/4 / DIN 51519, viscosity 15 + 100 mm*/s ISO 3448
(recommended viscosity 22 + 46 mm?/s)

Fluid temperature -10° =+ +70°C

Contamination class Higher than 18/14 ISO 4406 or higher

« After connecting the electric motor and the suction pipe, check the direction of rotation
of the pump with pulses of 1+2 sec. For standard pumps the direction of motor rotation
must be clockwise as viewed from the side of the motor fan.

« Flush the oil at atmospheric pressure in order to remove any impurity and air bubbles
from the circuit.
Commissioning
« Connect all devices to the system and gradually increase oil pressure.

« Check the oil level and, if necessary, fill up to the maximum level.

« To ensure a correct and longlasting operation, check oil after 100h from commissioning
and replace oil every year or 300h of use.

o M5:4+55Nm
« M5 for pumps gr.0,5: 8+9,5 Nm
o M6: 8+10 Nm
o M8: 16+20 Nm
Recomanded tightening  * M8 for pumps gr.1: 2125 Nm
torques « M10: 30+40 Nm

« Valves and plugs 1/4 BSPP: 620 Nm

« Valves and plugs 3/4-16 UNF: 15+40 Nm

« Relief valves M20x1,5: 50 Nm

« Tank’s plugs 1/2 BSPP: max 10 Nm



- ®
sales@hydronit.com - +39 02 320 625 145 )’I_.ldl"ﬂnlt

SECTION A

DC ELECTRIC MOTORS

Frame 114 DC motors: the most popular choice. Frame 80 DC motors: permanent magnets and compact
Power up to 2,1kW 12VDC and 2,2kW 24VDC also dimensions for high power density and low current consumption.
available with integrated cooling fan. All motors have Power from 150W up to 800W either 12VDC or 24VDC.

thermal protection switch as standard.

Frame 151 DC motors: heavy duty motors, with Frame 125 DC motors: Power up to 4kW also available with
cooling fan, thermal protection and running time of integrated cooling fan. All motors have thermal protection
16 min or over. Power from 2,5kW 12VDC up to 4kW switch as standard.
24VDC.
Q&A

Are these motors different from those mounted in the mini and micro power packs ranges?

No. Hydronit consistent engineering is reflected in the low number of parts used to compose all product ranges.

It is a big advantage for stockist distributors who can keep stock of the same DC motors used in the power packs and assemble them
quickly and effectively for electropumps too, depending on the actual requirement from the market.

How do I dimension a DC motor?

DC motors are normally for intermittent duty. It is important to know required flow in I/min and working pressure in bar. Then following
A090 table instructions a proper motor/pump combination can be selected. From the diagrams you can obtain current drawing [Amp],
duty as S2 (allowed running time in seconds) and S3 (percentage of allowed running cycle over total running + cooling cycle)
characteristic values. Take note that the rotational speed of DC motor is not constant and is dependent on required torque, which is

linked to flow and pressure.
Special motors executions as special voltage supply, ingress protection, rotation speed and service factor are available on request.

www.hydronit.com

EPB2016/1-A000




sales@hydronit.com -

Permanent magnets
Protection degree: IP54
Insulation class: F

+39 02 320 625 145

Weight 300W/500W/800W: 2,6 kg (without starting switch)
Weight 150W: 2 kg (without starting switch)

Starting relay option

25,5 (1,00)
10,5 (041)

)igdrnnit®

SECTION A

INTEGRAL DC MOTORS @80

@80 (3,15)
63,45 (1,50)

216 (0,63)

a

2(007) L

I

_ _185(0.73)

0895 (0,04)

Code
sl Assembly Spare part Nominal duty Nominal Nominal
Description code code cycle speed current L
. S2: 20 min
150W 12V DC + thermal protection | 0,15 12DC_T M46C1STO01 - ano 1200 rpm 28 A 108 mm
- S3:30% ED
. S2: 20 min
150W 24V DC + thermal protection | 0,15 24DC_T M46C2ST01 - ano 1650 rpm 12A 108 mm
S3:30% ED
300W 12V DC + thermal protection | 0,312DC_T | M46C1ST03 sg?% go/TED 1800 rpm | 39A | 137 mm
300W 24V DC + thermal protection | 0,324DC_T | M46C2ST03 Sg?; g"/TED 1800 rpm 20A  |137 mm
500W 12V DC + thermal protection | 0,512DC_T M46C1ST05 Sg?; g"/TED 2400 rpm 68 A 137 mm
500W 24V DC + thermal protection | 0,524DC_T M46C2STO05 8221 g"/TED 2500 rpm 31A 137 mm
800W 12V DC + thermal protection | 0,8 12DC_T | M46C1ST08 sg?% go/TED 2800 rpm | 119A 137 mm
800W 24V DC + thermal protection | 0,8 24DC_T | M46C2ST08 Sg?; S’VTED 3100rpm | 52A 137 mm
Options & couplings
e Notes:
Description Assembly code Spare part code The coupling is
. . Iready included
12V DC 100 Amp start relay + mounting kit $100 12DC 80 |M47RC0001+M47SK0801| 2 °% ;{p'ggigliﬁg the
24V DC 100 Amp start relay + mounting kit S100 24DC 80 |M47RC0002+M47SK0801| motorin the EPB
as_sembly_cot_:ie.
12VDC 100 Amp start relay (reversible) R100 12DC* M47NB0001 Itis to be indicated
only when ordering
24VDC 100 Amp start relay (reversible) R100 24DC* M47NB0002 EPB with no motor
but with a coupling.
Mounting kit for @80 DC motors and gr.0 pumps EPB80-0 E36200007 + E10101020

Wired remote control with 2 buttons and 3m cable

P0201 (single acting)

The reversible
starting relay

Wired remote control with 4 buttons and 3m cable

P0202 (double acting)

cannot be mounted
on the motor. It

EPB2016/1-A010

Coupling E36200007

2198

9.8

O g

<0

Weight: 0,063 kg

must be fixed on
the machine.

www.hydronit.com



- ®
sales@hydronit.com - +39 02 320 625 145 )’l_.ldl"ﬂnlt

SECTION A

INTEGRAL DC MOTORS @114

Starting relay option

12

J 114
98,4
42

@

162*

* 180mm only for M46C1ST21 |
»Rotatlon

Series wound
Protection degree: IP54
Insulation class: F

Weight: 7,05 kg (without starting switch)

Code
Description Assembly code | Spare part code Nomé;'gll eduty N:;Lnda ! b;zr:;:::l
i S2: 3 min
1600W 12V DC + thermal protection 1,6 12DC_T M46C1ST16 Timo 2800 rpm 210A
S3:10% ED
; S2: 2,5 min
2100W 12V DC + thermal protection 2112DC_T M46C1ST21 PP 2400 rpm 300A
S3:10% ED
. S2: 3,5 min
2200W 24V DC + thermal protection 2,224DC_T M46C2ST22 S3: 15% ED 2400 rpm 130 A
Options & couplings
Description Assembly code Spare part
12V DC 150 Amp start relay + mounting kit $150 12DC 112 M47SC0001 + M47SK1121
24V DC 150 Amp start relay + mounting kit $150 24DC 112 M47SC0002 + M47SK1121
Mounting kit for @114-@125 DC motors and gr.1 pumps EPB114-1 E36200003 + E10103010
Plastic protection cover for @114 motors MC F16000001
Wired remote control with 2 buttons and 3m cable P0201 (single acting)
Wired remote control with 4 buttons and 3m cable P0202 (double acting)

The coupling is already included when specifying the motor in EPB assembly code.
It is to be indicated on the order only when ordering EPB with no motor but with coupling.

Coupling E36200003

[}
&

7 Weight: 0,063 kg

www.hydronit.com

EPB2016/1-A020




- ®
sales@hydronit.com - +39 02 320 625 145 )’I_.ldl"ﬂnlt

SECTION A

INTEGRAL DC MOTORS @114 WITH COOLING FAN

Starting switch option

o .. O }:E’

A g A
iy @ ee
8 %“{j‘ ____________ .
Ql Y
q e @
40 162
1

Series wound
Protection degree: IP20
Insulation class: F

Weight: 7,5 kg (without starting switch)

* 180mm only for M46C1ST21 Rotation

Code
Description Assembly code | Spare part code Nomé;'gll eduty N:;Lndal b;zr:;:::l
1600W 12V DC with cooling fan + S2: 4 min
thermal protection 1,6 12DC_FE M46C1SF16FE S3: 10% ED 2800 rpm 210A
2100W 12V DC with cooling fan + S2: 3,5 min
thermal protection 2,112DC_FE M46C1SF21FE S3: 10% ED 2400 rpm 300 A
2200W 24V DC with cooling fan + S2: 4,5 min
thermal protection 2,2 24DC_FE M46C2SF22FE S3: 15% ED 2400 rpm 130 A
Options & couplings
Description Assembly code Spare part
12V DC 150 Amp start switch + mounting kit $150 12DC 112 M47SC0001 + M47SK1121
24V DC 150 Amp start switch + mounting kit $150 24DC 112 M47SC0002 + M47SK1121
Mounting kit for @114-@125 DC motors and gr.1 pumps EPB114-1 E36200003 + E10103010
Wired remote control with 2 buttons and 3m cable P0201 (single acting)
Wired remote control with 4 buttons and 3m cable P0202 (double acting)

The coupling is already included when specifying the motor in EPB assembly code.
It is to be indicated on the order only when ordering EPB with no motor but with coupling.

Coupling E36200003

[}
&

Weight: 0,063 kg

www.hydronit.com

EPB2016/1-A030




- ®
sales@hydronit.com - +39 02 320 625 145 )’l_.ldl"ﬂnlt

SECTION A

INTEGRAL DC MOTORS @125

/l//70
o 9 —
o
e A
Te} Z N\
& B / \
S b BR s at 1 /
Q |
Compound wound (3kW) S I f © \ //
Series wound (4kW) u E \ >
Protection degree: 1P42 < N >
Insulation class: F \ —
Weight: 11kg (without starter) !
_ 215 - 2110
Code
_r Assembly | Spare part | Nominal duty | Nominal | Nominal
Description code code cycle speed | current
3000W 24 V DC + thermal protection 324DC_T | M46C2ST30 83?_21: (;‘;Z“ED 2600 rpm| 180 A
i S2: 3min
4000W 24 V DC + thermal protection 424DC_T | M46C2ST40 S3- 8% ED 3500 rpm| 230A

Options & couplings

Spare part code

M47ZC0002 + M47SK1251
E36200003 + E10103010

Assembly code
$200 24DC 125_151
EPB114-1

Description

24V DC 200 Amp start switch + mounting kit
Mounting kit for @114-125 DC motors and gr.1 pumps

P0201 (single acting)
P0202 (double acting)

Wired remote control with 2 buttons and 3m cable

Wired remote control with 4 buttons and 3m cable

The coupling is already included when specifying the motor in EPB assembly code.
It is to be indicated on the order only when ordering EPB with no motor but with coupling.

Coupling E36200003

28,5

[}
&

7 Weight: 0,063 kg

www.hydronit.com

EPB2016/1-A040




- ®
sales@hydronit.com - +39 02 320 625 145 )’l_.ldl"ﬂnlt

SECTION A

INTEGRAL DC MOTORS @125 WITH COOLING FAN

M= | ]
—y = D
Te)
L &
E_ 1 N -
| ©
Compound wound (3kW) =
Series wound (4kW) §
Protection degree: IP20 g (=— 1
Insulation class: F _
Weight: 11,45kg (without starter)
37| 215 -
= = \

2110

Code
N Assembly Spare part | Nomional duty | Nominal | Nominal
Description code code cycle speed | current
3000W 24 V DC with fan cooling + thermal protection | 3 24DC_FE | M46C2SF30FE ng;g,;?'ED 2600 rpm| 180A
4000W 24 V DC with fan cooling + thermal protection | 4 24DC_FE | M46C2SF40FE S%?éf,zmé”D 3500 rpm| 230A
Options & couplings
Description Assembly code Spare part code
24V DC 200 Amp start switch + mounting kit $200 24DC 125_151 M47ZC0002 + M47SK1251
Mounting kit for @114-@125 DC motors and gr.1 pumps EPB114-1 E36200003 + E10103010
Remote wired control with 2 buttons and 3m cable P0201 (single acting)
Remote wired control with 4 buttons and 3m cable P0202 (double acting)

The coupling is already included when specifying the motor in EPB assembly code.
It is to be indicated on the order only when ordering EPB with no motor but with coupling.

Coupling E36200003
28,5

[}
&

7 Weight: 0,063 kg

www.hydronit.com

EPB2016/1-A050




- ®
sales@hydronit.com - +39 02 320 625 145 )’I_.ldl"ﬂnlt

SECTION A

HEAVY DUTY DC MOTORS @ 151 WITH COOLING FAN

I 9 o 1 % N\ |
< T
N~
N B L o
b =8 I A - €
Q | i q- Q
| / R ) ) |
Series wound
Protection degree: IP20 Front attachment: 51 316
Insulation class: F IEC B14-90 i -
Weight: 21,5 kg
Code
Descriotion Assembly Spare part Nominal Nominal Nominal Mounting
P code code duty cycle speed current kit
2500W 12V DC motor + S2:16 min
thermal protection & fan 2,5HD 12DC_T | MB14C1ST25 S3: 20% 1700 rpm 290 A XB14 90-1
3000W 24V DC motor + S2: 16 min
thermal protection & fan 3HD 24DC_T MB14C2ST30 S3: 20% 1700 rpm 170 A XB14 90-1
4000W 24V DC motor + S2: 10 min
thermal protection & fan 4HD 24DC_T MB14C2ST40 S3: 15% 2000 rpm 240A XB14 90-1
Mounting kit & options
Description Assembly code Spare part code
12V DC 200 Amp start switch + mounting kit S$200 12DC 125_151 M47ZC0001 + M47SK1251
24V DC 200 Amp start switch + mounting kit S$200 24DC 125_151 M47ZC0002 + M47SK1251
Mounting kit for B14 IEC frame 90 motors and gr.1 pumps EPB151 E36100003 + E36100000 + E10105010
Remote wired control with 2 buttons and 3m cable P0201 (single acting)
Remote wired control with 4 buttons and 3m cable P0202 (double acting)

The mounting kit is already included when specifying the motor in PPC assembly code.
When ordering spare motors, the mounting kit must be ordered separately.

For B14 motors the relay is not normally mounted on the motor.

Other B14 DC motors for heavy duty or special applications

They are available in sizes @125, @151 or @191 in multiple executions, engineered to perform heavy duty cycles and tailor
made to suit each specific application, with or without fan cooling or thermal protection. They are normally mounted on the
central flange with B14 standard mounting kits.

To properly select these motors, the following minimum information must be provided: 1) motor power and voltage, 2)
application type, 3) duty factors: S2 [min] - continuous running time and S3 [%] - percentage of running time on total cycle time,
4) required motor speed, 5) quantity to be supplied.

Couplings
Pump side E36100000 Weight: 0,05 Kg Motor side E36100003 Weight: 0,22 Kg

245
201
I
o5 Mg
& -
I \
7 -
- 44

www.hydronit.com

EPB2016/1-A060




- ®
sales@hydronit.com - +39 02 320 625 145 )’I_.ldl"ﬂnlt

SECTION A

DC MOTOR OPTIONS

Wired remote control
Weight: 0,60 kg
Protection degree: IP65

Plastic cover for DC motors @ 114
Weight: 0,27 kg

127

l

e

g
s

203

190

{Ebcoeej

180

=

Mounting kit for DC motors

Description Spare part code
Assembly code Spare part code Wired rer_note control with 2
v P P buttons single/double acting P0201
Wired remote control with 4
MC F16000001 .
buttons double acting P0202
. ) Mounting kit sub-parts
Motor Type Mounting Kit code —
Power cable Fixing system
2 80 M47SK0801 M47SKO000A Worm drive hose clip E60513080
114 M47SK1121 M47SK000C | Screws TCEIM5X10 + washer WASHLO05
@125 -151 M47SK1251 M47SKOO0E | Screws TCEIM5X10 + washer WASHLO05

EPB2016/1-A070

Power Cables

JV Spare part | L (mm) |A(mm®) |D1(mm)| D2(mm) |H(mm)
I N

i * ¢ M47SKO00A | 130 10 6 8 15

* \ <o o’ soctic wire M47SK000B | 130 2 6 |Faston63mm| 1,5

M47SK000C | 130

16 8 8 2

L M47SK000D | 130 2 8 Faston6,3mm| 1,5
M47SKO00E | 130 25 10 8 2
M47SKO000F | 130 2 10 Faston 6,3 mm| 1,5

www.hydronit.com



sales@hydronit.com -

DC MOTOR OPTIONS

Starting relay 100A
for motors @80

Weight: 0,3kg

Protection degree: IP54
Max current draw: 3,6A 12V - 2,0A 24V

+39 02 320 625 145

Nominal | Peak Current
current (5s) Spare part code
M47RC0001 (12V DC)
100A 200A M47RC0002 (24V DC)

Starting relay 200A
for motors @125 and 151

Weight: 0.5 kg 12V - 0,7 kg 24V

Protection degree: IP54
Max current draw: 1,6A 12V - 0,7A 24V

Nominal | Peak Current
current (5s) Spare part code
200A 800A M47ZC0001 (12V DC)

M47ZC0002 (24V DC)

Starting relay 150A
for motors @114

Weight: 0,6 kg

Protection degree: IP54
Max current draw: 3,6A 12V - 2,0A 24V

)il_.]drunit®
SECTION A

Nominal | Peak Current
current (5s) Spare part code
M47SC0001 (12V DC)
150A 300A M47SC0002 (24V DC)

Starting relay (reversible) 100A
for reversible motors and pumps

Weight: 0,5 kg

Protection degree: IP65
Max current draw: 1A 12V - 0,5A 24V

www.hydronit.com

Nominal | Peak Current
current (40ms) Spare part code
M47NB0001 (12V DC)
100A 400A M47NB0002 (24V DC)

EPB2016/1-A080




- ®
sales@hydronit.com - +39 02 320 625 145 )il_.]drl:lnlt
SECTION A

DC MOTOR CHOICE AND ELECTRIC CONNECTION SCHEME

Electrical connection scheme

M47*C000* M47NB000*
+ +
+ ) ‘
gﬂ-‘_Hﬂ e @
_suringwier | -
...................................... @ @

= ==

A & @ A~

+ + +
) 1t .-
A 1 Directional valve |
o —&
¢ i
MSV solenoid valve !
A
]
Remote control P0201 Starting switch

Starting switch /

Second directional valve
(left/right) only with P0202

for one single or double acting cylinder
or P0202 (4 buttons)
for two double acting cylinders

®
@
) Remote control P0201 (2 buttons)
e

DC motors selection

DC motor selection is a critical step for the proper power pack definition. Required Pressure, Required Flow, Service Factor (or Duty Cycle)
should be known before starting the motor selection. Please note that DC motors speed is not constant and depends on torque.

Once you choose a motor, look at Motor-Pump Performance diagram if a pump displacement (blue curve) is available at the intersection of
required pressure and flow values. On the relevant “I” axis (red curve) you obtain the current drawn. When the intersection point is not exactly
on a pump curve, select a smaller pump . On Motor Ratings diagram you can easily obtain the maximum allowed Service Factor: S2, Short Time
Duty (min); S3, Intermittent Periodic Duty (% of total cycle). If the obtained Service values are not sufficient to meet required performances,
choose a higher power or heavier duty motor and repeat the calculation on the new motor curves.

Example:

an application requires the following data: flow = 4 I/min, max pressure = 195 bar, duty cycle is unknown.

- check on 1,6 Kw 12V DC motor diagram: the 1,66 cc pump curve meet the intersection of 4 liters/minutes and 195 bar

- choose from curves a 1,66 cm’/rev pump. the corresponding “I” curve declares 200 A drawn current at 195 bar.

- project horizontally the current drawn to the Motor Rating diagram: the DC motor can work for maximum 3 min (S2) and S3 is about 9% of the
total cycle, i.e. after 3 min working, the motor should cool down for at least 30 min.

- The total cycle time is calculated by adding the working time and the idle time (9% working time plus 91% idle time),

in this case 33 min. If this duty cycle is not adequate for our application, we must choose a higher power or higher duty DC motor and check the
relevant diagram again.

Motor-Pump Performances Motor Ratings
Q (/min)  1600W 12VDC M46C1ST16 1(A)
20 280
18 s2 s3
16 4338 33 28| 217 /155 127 240 \
14 \\ //// // l; o %*
12 1 s = ~— 160
10 ™. /

o - 120

6 - |
. \% 21 » 80
> '§\ 127 | 40 T
2 0,89
0 0 - 4
S2(min) 2 6 8 10 12
250 300 33(\%) z‘t 3'1‘2 1‘6 2b 2‘4

www.hydronit.com

EPB2016/1-A090




- ®
sales@hydronit.com * +39 02 320 625 145 Jydronit

SECTION A

DC MOTORS @80 DIAGRAMS

Q (I/min) 150W 12VDC M46C1STO01 1(A)
2,2 35
2
0,88 0,64 038 - 30
1,8 y1 / 7 S2 S3
16 /S ~ - 25 ‘
2tk NC /S - 20
) / 026 \
s e N
’ r —
0,6 — 0 - 10
0,4 %;2 — N
0’2 / \\‘_0‘26 r 5 \\\
, 0,79 ~
0 0 Samin) 24 28 32 36 40 44
0 50 'IOOP ® )150 200 250 S3%) 25 30 36 40 45 50
ar
Q(/min)  150W 24VDC M46C2ST01 1(A)
2,2 18
1 : 088 fogs 0,38 026 [ 16
1:6 \ / / - 14 s\z S|3
14 )>(o,ss T ,/0'19— 12 \
1,2 // - 10
NS _— g INAN
o@/
0,8 - N
06 | P~—_ | 038 -6 \\\
0’ 4 R 026 4 \\\
, 0,19
0,2 2
0 0 s
2(min) 24 28 32 36 40 44
0 50 100P b )150 200 250 ss%) 25 30 35 40 45 50
ar
Q (I/min) 300W 12VDC M46C1STO03 1 (A)
3,6 60
3,2
28 1,25 0,38 - 50
iy \\ /125// 0,9 0,64 // 0,26 40 S2 s3
2 \\ J~ // //// //0'19 \
16—l — // %0 \ I\
, 0,88
, 7 = 0,64
0,8 &
| 0.38 10 A\

0.4 - e —— 0,26 L
0,19
0 ! 0 S2(min) 4 8 1‘2 ]6 %O %4

100 150 200 250 S3%) 10 14 18 22 26 30
P (bar)

o
(4}
o

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 40°C

www.hydronit.com

EPB2016/1-A100




- ®
sales@hydronit.com * +39 02 320 625 145 Jydronit

SECTION A

DC MOTORS @80 DIAGRAMS

Q (I/min)  300W 24VDC M46C2ST03 1(A)
3,6 30
3’2 1.25 088 / 0,64 0,38 0,26 | 25 S2| S3
2,8 \ i . ///
24 7< / // e 20
' 1,25 0,19
2 \ / /| / ‘/ \
16 LK e \\
v LK 0 \
0.8 0‘\0'64 \
y "~ \
04 ]gzb 038 o26[ O N
y 0,19
! 0 S2(min) 4 8 12 16 20 24
0 50 100 150 200 250 S3%) 10 14 18 22 26 30
P (bar)
Q (Vmin)  500W 12VDC M46C1ST05 1(A)
6 90
55 - 80
42 154, /1,25/0,88 08 o4 . 70 S2 3\3
’4 NG \ // / / / ,/ 0.26 60 \\
B INNY S
DA KA |~ | _—oi9 50 \\
25 I AL 1297 _— - 40 \
1:? // < 10,64 - 20 \
= ———t————— 08 I \
08 o[ )
0 50 100 150 200 250 e T T N B
P (bar)
Q (I/min) 500W 24VDC M46C2ST05 1(A)
7 45
6,2 - 40
55 1,54 1,25 0,88 35 S2| S3
,5 7 / A0ed 4038 1\
45 1\ /S /S ~ 0.26 |- 30 I\
1N YAV AV AR - I
35 1 Sl — \\
3 A >( |~ _—o0.19} 20
o5 | KL =<2 \
" 5444 e F 15
15 Y4 _ — 10 \
0 2_) : 038 026 5 \\\\
’0 ] 0,19
0 50 100 150 200 250 B T N I
P (bar)

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 40°C

www.hydronit.com
EPB2016/1-A110




sales@hydronit.com - +39 02 320 625 145

SECTION A

DC MOTORS @80 DIAGRAMS

)igdrnnit®

S2| S3

N

N

N

SZ(\mm)‘Z z‘t § § 1‘0 1‘2
S3(%) 4 8 12 16 20 24

Q (/min)  800W 12VDC M46C1ST08 1(A)
9 140
8 1,54 J1.25 0,88 0,64
, / // / / 038} 120
N S -

\\ / //// %1 80
5 S 4 L
4 ///0,19 50
3 \y,/

Q 1,25 - 40

2
1 %5\ —— 038F 20
: 0% .

0 50 100 150 200 250

P (bar)

Q (Vmin)  800W 24VDC M46C2ST08 1(A)
9 70
8 T4 125 Joss 064 - 0,38
. VAV 60
6 I\ / / » / ,/ ,/ 02% 50
5 4~ \/ // / / 0191 40

1154 L~ L~

4 7 - 30
3 P

g /74 0,88 - 20
2 064

— T 019
O T T 0
0 50 100 150 200 250
P (bar)

| eet—
—

A\ N\

N\
\\\

NN

samn2 ¢ 6 8 10 ©
S3%) 4 8 12 16 20 24

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 40°C

www.hydronit.com

EPB2016/1-A120




- ®
sales@hydronit.com * +39 02 320 625 145 Jydronit

SECTION A

DC MOTORS @114 DIAGRAMS

Q (I/min)  1600W 12VDC M46C1ST16 1(A)
20 280
S2| S3
12 4338 33 28| 217 186 127 | 240 \
1 NN AL oo I
12 . ,/ // ~— 160 AL\
10 N 4/ _‘{/
: - 120
8 + -
6 \'&8 80 \
4 — \%d"ﬂ 14
) = \\‘\_\_ 127 L 40 SRy
0,89
0 0 $2(min) 2 4 6 8 10 12
0 50 100 l:’1(20 ) 200 250 300 s+ 5 1 T B 2
ar,
Q (/min)  2100W 12VDC M46C1ST21 1(A)
20 350
18 43 |3 33| 28 217
16 N // /' // - 300 s2| s3
" \ / / // /1,66_ 050 \ \
. N~ =T = 1\
— 089 200
0 | 0\
8 — - 150
6 =~ =38 \
o — e - 100
. Q§:¥M 217
2 - ————17 50
’ 0 S2min)2 4 6 8 10 12
° > 1% P}ggr) 200250 300 s3%) 4 & 12 16 20 24
Q (I/min)  2200W 24VDC M46C2ST22 1(A)
24 160
22 S2) s3
20 N B a3 /isls,a 28 166 | 140 \ \
18 \\ // ,/// ///1,27 120 \ \
16 - //// // ]
14 g 1 _— | _oss 100 \
-~
12 > " 80 \
10 - 6 / \
8 29 B 60 \
——33 | s 4 N
2 T 17 0 <\
2 ——— 1127 20
° 0 50 100 150 200 250 3(30o SAmm2 4 6 b 10 12
P (bar) S3%) 4 8 12 16 20 24

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 40°C

www.hydronit.com

EPB2016/1-A130




- ®
sales@hydronit.com * +39 02 320 625 145 Jydronit

SECTION A

DC MOTORS @114 DIAGRAMS

Q (/min)  1600W 12VDC M46C1SF16FE 1(A)
20 280
18 S2 . SB
6 4338 33 28| 217 98] 127 240 \ \
14 N \ //// // /,/ —r 200 \
12 1 7z ,/ // — 160 \
10 N 4/ > \
. S - 120 \
6 - \:Q - 80
4 \§<’17 1.6 \
= —T1— 1 127 | 40 )
2 0,89
0 0 Somin)4 6 8 10 12 14
0 50 100 150 200 250 300 S3%) 8 12 16 20 24 28
P (bar)

Q (/min)  2100W 12VDC M46C1SF21FE 1(A)
20 350
18 43 ,58 33 //2,8 217
16 \ // / / 166_ 300 \ ’ |>3
14 \\ s "1 250
\></// / 127
12 - — -
0,89 200
8 S — - 150 \
38 AN
6 S ———— 3.4 L 100
4 = Q§\\‘-_ 28 217 \\\
o ——————127} 50
2 n,on
0 0 S2(min) 4 6 8 10 12 14
0 50 100 150 200 250 300 3wy & 12 16 20 24 25
P (bar)

Q (/min)  2200W 24VDC M46C2SF22FE 1(A)
24 160
22 38 1 o2 | S
20 N, /5’1 /4'3 /,'/3’3 //2'8 P }1'66 - 140 \
18 \\ // ,/// ///1,27 120 \ \
16 - // // // -
14 ~ A A _— |__os9 100 \
12 07 _— 80
I % T - \
8 = = 33 o8 4 \
2 QQ\: 2,17 L 0 SR
9 —_— 127 20
0 91 0 S2(min) 4 6 8 10 12 14
0 50 100 150 200 250 300 ey S s A A X
P (bar)

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 40°C

www.hydronit.com

EPB2016/1-A140




sales@hydronit.com -

SECTION A

+39 02 320 625 145

)igdrnnit®

S2| S3

\
N

N

SZ(min) ‘2 1‘1 § § 1‘0 1‘2

S3(%) 4 8 12 16 20 24

DC MOTORS @125 DIAGRAMS
Q (Vmin)  3000W 24VDC M46C2ST30 1(A)
22 21(Q
20 \\ 40 50 4.3 33 _28
18 N 050 2 08 A" 2,17 180
NSNS
10 DNl A | e
12 \\< '>< 5,0 / - 120
4.8
12 7 <7 - L 90
6 = — = 277 60
4 1,66
- 30
2
0 0
0 50 100 150 200 250 300
P (bar)
Q (Vmin)  4000W 24VDC M46C2ST40 1(A)
35 270
30 \ \ 7.9 ,6,0 5,0 ﬁs,e - 2,8/2,17 - 240
W NN
g - 180
20 ‘// gl I
> / 150
15 5.0 ™ - 120
pE=———t |, |
———T 2,17 60
5 166
- 30
0 0
0 50 100 150 200 250 300
P (bar)

T |

\

SZ(min) ‘2 4 6 8 10 12

S3%) 4 & 12 16 20 24

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 40°C

EPB2016/1-A150

www.hydronit.com



- ®
sales@hydronit.com * +39 02 320 625 145 Jydronit

SECTION A

DC MOTORS @125 DIAGRAMS

Q (/min)  3000W 24VDC M46C2SF30FE 1(A)
22 210
20 \ 40 3 5% s2| s3
18 N 4050 g e A 2,17 180
NSNS
1 SN T L | e \
10 X =0 _— - 120
13
10 < L
: — . W
—_— —— 28
6 = 77 80 NN
4 166
- 30

2
0 0 S2(min) 4 6 8 10 12 14

0 50 100 150 200 250 300 S3) 8 12 16 20 24 28

P (bar)

Q (/min)  4000W 24VDC M46C2SF40FE 1(A)
35 270
30 \ \ 79(60 50 [43 38 2,8/2,17 - 240 TZ =
d / 3,3 |
)e \\ %'// ////,/1,66 210 Wil
N2 2 S B i
1 - 150 \[\
15 R - 120
o B, 90
— — 28 2,17 60
5 1,66
- 30
0 0 Somin)2 4 6 8 10 12
0 50 100 P1(g(a)r) 200 250 300 st 4 B 12 16 20 24

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 40°C

www.hydronit.com

EPB2016/1-A160




- ®
sales@hydronit.com * +39 02 320 625 145 Jydronit

SECTION A

DC MOTORS @151 DIAGRAMS

Q (Vmin) 2500W 12VDC MB14C1ST25 1(A)
52 7,9 6,0 5,1 43 | 3,8 3,3 28 300 Sf ‘33
22 ya% ,/ A //:,2,17 - 270 \ \
20 NS LA A - 240
BN N\A S AN — % 510 |\
16 -\ / /:/// - 180
14 ////// 7 127
12 4 ) '//,/ ] - 150 \ \
10 0.0 - 120
8 \5'1 I 90
6 ———— =L 38 ./ e - 60 N\
4 2,17 L 30
2 1,66
0 } 0 _
0 50 100 P1(5b(:I 0 200 250 300 Z}E%") ;0 2 ’;j -
Q (/min)  3000W 24VDC MB14C2ST30 1(A)
gg 98 79/ 60 51| 43 338,33 180 sz\ 3‘3
24 N N SN A ~ A~ 28160 IR
22 1\ J S S s |~ L 140
Wh N A/ ~~ ~ 217 \
18 IN WX/ A —~ | 120
16 SN ALK A | L 100
12 =K 7R H T \ I\
12 22 e - 80 \
10 ————] 0,0 - 60 \
8 —— \\ 5.1 —_ 43 \
2 — O ‘2"3 \\\\
2 —2.17
0 0 -
0 50 100 P1(5b(; ) 200 250 300 ziig')””;’ A A
Q (I/min)  4000W 24VDC MB14C2ST40 1(A)
28 270
%g 98] 79 40 51| 43 38 [ 240 52 83
P N / )y é/%s,s L 210 l
20 P A A |
18 \ \/U '// /,/2’8' 180
I X o~ 150
O~ A \
12 2Ll R T L 120 \ [\
6,0
10 — - 90
g —————————u 0 \
4 1 30 N
27
0 - 0 _
0 50 100 150 200 250 300 Somm 5 10 15 20 25 X
P(bar) S3(%) 6 12 18 24 30 36

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 40°C

www.hydronit.com

EPB2016/1-A170




- ®
sales@hydronit.com * +39 02 320 625 145 Jydronit

SECTION A

SUMMARY TABLE - PUMP/MOTOR COUPLING KITS

Pump Group 0 pump Group 1 pump
Motor SeriesG-K-H-R Series G-K-KL-H-S
DC @ 80 (E36200IC:_)(§’7B+8EO1- 8101020) n/a
DC 2114 n/a (Esﬁzoo%zglg& 03010)
DC @125 n/a (E36200EOF())§-2I1EA;O11 03010)
DC @ 151 n/a EPB151

(E36100000+E36100003+E10105010)

www.hydronit.com
EPB2016/1-A180




- ®
sales@hydronit.com - +39 02 320 625 145 )’g dl"ﬂnlt

www.hydronit.com




- ®
sales@hydronit.com * +39 02 320 625 145 Jydronit

SECTION B

CENTRAL FLANGES

Three flanges to cover all DC
motors Hydronit range, from
frame 80 up to frame 151mm.

The mid flange E10103010 allows
the mounting of both frame 114 and
frame 125 DC motors. Less parts in
stock allow savings and flexibility.

The interfaces to
pumps and motors are
standardised. Motors
and pumps already on
stock for the Hydronit
power packs range can
be used to build
electropumps too.

Standard gear pumps, as mounted in the
Lateral ports pumps (KL series), allow the positioning power packs PPC and PPM ranges, can be
of P and T ports where needed (right or left side, thanks mounted here too, thanks to the lateral P port on
to the double attachment) to simplify the power packs the flange. Double pumps, including those with
positioning within the machine. an integral HI-LO circuit, are also available.
Q&A

Which gear pump / central flange combination should I choose?

Depending on the motor frame you have multiple options:

« for frame 80 DC motors (power up to 800W) you have only the choice of group 05 pumps. these are the same used in PPM and PPC
power packs (front flange P port and rear flange suction port).

« for frame 114 and 125 DC motors (1600W up to 4000W), the same central flange can accomodate standard power pack pumps,
either group 05 (with an adapter) or group 1, with the front flange P port, connected to the lateral 1/4 BSPP exit port. As alternative,
the classical group 1 KL series pumps with lateral ports are available. These can be fitted with P and T ports which can be rotated 180°,
when configuring the power pack, in order to allow ports positioning flexibility.

« for frame 125 (DC motors 2500W, 3000W and 4000W), a standard B14 bell housing and coupling is used. Only KL pumps are usable.

Is the central flange available as a loose component?
Yes. We can supply either fully assembled and tested electropumps or kits of loose components which can be kept in stock by our
worldwide distributors and easily assembled to satisfy local market demand quickly and effectively.

www.hydronit.com

EPB2016/1-B000




- ®
sales@hydronit.com - +39 02 320 625 145 )’l_.ldl"ﬂnlt

SECTION B

DC MOTORS @80 CENTRAL FLANGES - OVERALL DIMENSIONS

Spare part code Motor side
E10101020
Cavity Threads @
P 1/4 BSPP
DC motors 2 bolts M6x14
attachment |
2 bolts M5x** ~
ttPurr:lps ) (see pump lenghts on \ / (0}
attachmen the relevant tables)
20 (0,79)
Mounting Foot @50 (1,97)
attachment 2 bolts M8x16 peson
@ 65,5 (2,58)

Notes:
- all dimensions in mm + (inches)

Weight:
0,759 kg (1,67 Ib)

40 (1,57)
A\
A

)

20 (0,79)

60 (2,36) 10 (0,39)

Pump side
80 (3,15)
4 N
P1 2O P2
) W |° )
‘ o 3
&) | oS &/
— |2 g g o :
AN /
20 (0,79) g 24 (0,95) 20 (0,79)
§f 40 (1,57)
- 56 (2,20)

www.hydronit.com
EPB2016/1-B010




sales@hydronit.com - +39 02 320 625 145

SECTION B

DC MOTORS @114 - @125 CENTRAL FLANGES - OVERALL DIMENSIONS

Spare part code

E10103010
Cavity Threads
P 1/4 BSPP
Etgg]ﬁ"tlg:]st tie rods M6
Pumps (seezpzfrits I'\élr?g);(:]:s on
attachment

the relevant tables)

Mounting Foot
attachment

2 bolts M10x18

Notes:

- all dimensions in mm + (inches)

Weight:
0,357 kg (0,79 Ib)

Pump side

50,5 (1,99)

i
£ P

(A
L g&ﬂ
d |

www.hydronit.com

12 (0,47)

)igdrunit®

Motor side

12,2 (0,48)

282 (3,23)

42 (1,65)

39 (1,54)

36 (1,42)

60 (2,36)

2984 (3,87)

@ 110 (4,33)

@ 117 (4,61)

©32(1,26)

EPB2016/1-B020




sales@hydronit.com - +39 02 320 625 145

SECTION B

)igdrnnit®

DC MOTORS @151 CENTRAL FLANGES - OVERALL DIMENSIONS

Spare part code
E10105010

Cavity Threads
DC motors tie rods M6
attachment

Pumps 2 bolts M8x**

(see pump lenghts on
attachment the relevant tables)
Notes:

- all dimensions in mm + (inches)

Weight:
0,448 kg (0,99 Ib)

N. 4 holes @ 10 (0,39)

96 (3,78)

13 (0.51)

R

@ 115 (4,53)
©95(3,74)

EPB2016/1-B030

8(0,31)

| 4018

@ 32 (1,26)

298 (3,86)

Pump side

Motor side

295 (3,74)

TN

sl

88 (346)

@32 (1,26) //

N

40 (1,57)

|
o

N s R )

17,5 (4,62)

40 (1,57)

www.hydronit.com




- ®
sales@hydronit.com - +39 02 320 625 145 )il_.]dl'l:lnlt
SECTION C

PUMPS

K series. The standard pressure balanced design for
cost effective solutions. Also available as a double
pump with or without HI-LO circuit integrated within
the pump itself

KL series with lateral ports. This is the conventional
solution for frame 80 and frame 151 electropumps.
Can be applied on frame 114 and 125 too. Optional
integral relief valve.

H series. It features an oversized shaft and a higher
number of teeth for high pressure applications, up to 280

bar peak.
R series. Bidirectional pumps with
integrated suction check valves and two
front outlet ports.

Q&A

Why are pressure balanced gear pumps better than fixed clearance gear pumps used by some competitors?
Pressure balanced gear pumps are built with lateral pressure plates which reduce the mechanical clearance on the gears with the
increase of the pressure on the outlet, thus greatly improving the hydrodynamic efficiency, reducing heat generation and energy
consumption. The mechanical efficiency is kept at an optimal level too.

How can we mount both group 0 and group 1 pumps on the same Universal central manifold?
The group 1 pumps fit directly on the central manifold and are fixed by two bolts provided with the pump.
The group 0 pumps are fitted by adaptor plate E60513025, which adapts the pump front flange to to the central manifold.

Why do the pump technical specifications show three maximum pressure levels?
Our pumps have three ratings for the maximum allowed pressure: 1-Peak: is the max pressure allowed for less than 2 seconds. 2-
Intermittent: is the max pressure for a period of 20 seconds; 3-Continuous: is the normal pressure allowed continousely.

www.hydronit.com

EPB2016/1-C000




- ®
sales@hydronit.com - +39 02 320 625 145 )il_.]drl:lnlt
SECTIONC

G SERIES GEAR PUMPS, GROUP 1

o
&
12 A 68
8 N , @ 23
[ p)
\ n2@8,6
L
o
m -} -
& __P
| NI R (&)
N Y o |
S o Qs
Q
Main features
Oil temperature -15+ +80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)

2 x M8 8.8 class steel

AT e tightening torque: 21 + 25 Nm

Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON

Standard rotation direction: clockwise (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.

Spare part code Assembly code
E60 60 30 ** G | ——— Pump type:
G = G series
Pump type: Size: ; ; .
60 = Group 1 see below table 1,1 :‘lc?;:gc;‘ Isgésgggsvr?aegllg

Available range

dis';?an;Lnr:Ient pr:::::re Inr:(:;smsif:fem Cs:etisl;t?: ®| max speed N Bolts* Code marked on Spare part code Weight
[ccirev] [bar] [bar] [bar] (rpm] [mm] (mm] pump [Kal
0,8 250 230 210 6000 35,8 M8x50 EK1PD1.3G E60603001 0,49
1.1 250 230 210 6000 36,8 M8x50 EK1PD1.6G E60603002 0,50
1,3 250 230 210 6000 37,8 M8x50 EK1PD2G E60603003 0,51
1,6 250 230 210 6000 38,8 M8x55 EK1PD2.5G E60603035 0,52
21 250 230 210 6000 40,8 M8x55 EK1PD3.3G E60603004 0,54
2,6 250 230 210 6000 42,3 M8x60 EK1PD4.2G E60603005 0,56
3,2 230 210 190 5000 43,8 M8x60 EK1PD5G E60603006 0,58
3,7 230 210 190 4500 45,8 M8x60 EK1PD5.8G E60603007 0,61
4,2 230 210 190 4000 47,3 M8x60 EK1PD6.7G E60603008 0,63
4,9 210 190 170 3500 49,3 M8x65 EK1PD7.5G E60603009 0,65
6,0 210 190 170 3000 51,3 M8x65 EK1PD9.2G E60603010 1,01
7,9 200 180 160 2100 88,0 M8x100 K1PD11.5G E60603012 1,12
9,8 170 150 130 1700 95,0 M8x110 K1PD15G E60603014 1,27

* A washer is always fitted to ensure correct bolt engagement

www.hydronit.com

EPB2016/1-C010




- ®
sales@hydronit.com - +39 02 320 625 145 )il_.]dl'l:lnlt
SECTION C

G SERIES GEAR PUMPS, GROUP 0

1/4 BSPP
01
S

| | n2055

| @22

@8

|
<;
@5,5
@9,6

Main features

Oil temperature -15+ +80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)

2 x M5 8.8 class steel

Fixing bolts tightening torque: 8 + 9,5 Nm

Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON

Standard rotation direction: clockwise (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.

Spare part code Assembly code
E60 50 30 ** GM ——— Pump type:
GM = G series
Pump type: Size: — Nominal displacement:
50 = Group 0 see below table 0,4 (cc/relv) se;, ';ebw table

Available range

dis';?an;:enrzlent pr:::::re In;?;smslgfem C;:etlsr;t‘:: ® Ma[)::;(]eed [ mNm] ?;I;?]* Code';TlamrI'(Jed on Spare part code V\ﬁe(lg]ht
[ccirev] [bar] [bar] [bar]
0,1 230 210 190 7000 445 M5x55 UKO0,25D18G E60503001 0,49
0,2 230 210 190 7000 445 M5x55 UKO0,25D24G E60503002 0,50
0,4 230 210 190 7000 47,5 M5x55 UKO0,25D36G E60503004 0,51
0,6 230 210 190 7000 51,5 M5x65 UKO0,5D0,75G E60503006 0,52

* A washer is always fitted to ensure correct bolt engagement

www.hydronit.com

EPB2016/1-C020




- ®
sales@hydronit.com - +39 02 320 625 145 )il_.]dl'l:lnlt
SECTIONC

K SERIES GEAR PUMPS, GROUP 1

a
‘ g 23
n.2J 8,6
N
m -} —
S i ~
1 T~ Q)
S Ny oy B
Q QN
o O
Main features
Oil temperature -15+ +80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)

2 x M8 8.8 class steel

e |
ixing bolts tightening torque: 21 + 25 Nm

Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON

Standard rotation direction: clockwise (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.

Spare part code Assembly code
E60 60 40 ** K ——— Pump type:
K = K series
Pump type: Size: ; ; .
60 = Group 1 see below table 1,2 :\lcg;':\el\r/\)a Isgésglggsvr?aegllg

Available range

Nominal Peak . Continuous * .
displacement pressure Intermltt(:)nt pressure Max speed N Bolts Spare part code Wf('ght

[ccirev] [bar] pressure [bar] [bar] [rpm] [mm] [mm] [Kgl
0,9 250 230 210 4500 61,3 M8x75 E60604001 0,73
1,2 250 230 210 4500 62,8 M8x75 E60604002 0,75
1,6 250 230 210 4500 64,3 M8x80 E60604035 0,77
2,1 250 230 210 4500 66,0 M8x80 E60604004 0,79
2,7 250 230 210 4500 68,5 M8x80 E60604005 0,82
3,2 250 230 210 4500 70,0 M8x85 E60604006 0,86
3,7 230 210 180 3600 72,0 M8x85 E60604007 0,88
42 230 210 180 3600 74,0 M8x85 E60604008 0,90
5,0 210 180 140 3000 77,0 M8x90 E60604009 0,94
6,0 210 180 140 3000 81,0 M8x100 E60604010 0,98
7.9 180 140 100 2800 88,5 M8x100 E60604012 1,10

* A washer is always fitted to ensure correct bolt engagement

www.hydronit.com

EPB2016/1-C030




- ®
sales@hydronit.com - +39 02 320 625 145 )il_.]dl'l:lnlt
SECTION C

K SERIES GEAR PUMPS, GROUP 0

9,5 &
7]
) N oM 50
A 16
= n2@55
I
N
N 7 [~ | —
Q
_) |8 Q)
© ) wlo
[T}
Main features
Oil temperature -15+ +80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)

2 x M5 8.8 class steel

Fixing bolts tightening torque: 8 + 9,5 Nm

Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON

Standard rotation direction: clockwise (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.

Spare part code Assembly code
E60 50 40 ** KM — Pump type:
KM = K series
Pump type: Size: ; ; .
50 = Group 0 see below table 0,4 l(‘lczl;rrléc;alsg;silglzsvrr::tr;lté

Available range

disr::l’arzlennilent pr:::: re In;?;smsltlt:ent c;petlsnsl:ﬁ: ® Ma[xr :r’:l?ed [mNm] ?;I::]* Spare part code V\Ef('g]ht
[ccirev] [bar] [bar] [bar]
0,2 200 180 160 6000 45,5 M5x60 E60504002 0,33
0,4 200 180 160 6000 47,5 M5x65 E60504004 0,35
0,6 200 180 160 6000 51,5 M5x65 E60504006 0,40
0,9 200 180 160 5000 52,5 M5x70 E60504009 0,44
1,3 200 180 160 3900 55,5 M5x70 E60504013 0,49
1,5 200 180 160 3900 57,8 M5x70 E60504015 0,51

Other gear pumps with different pressure and speed available upon request.

* Washers may be fitted to adapt bolt lenght

www.hydronit.com

EPB2016/1-C040




- ®
sales@hydronit.com - +39 02 320 625 145 )il_.]dl'l:lnlt
SECTIONC

H SERIES HIGH PRESSURE GEAR PUMPS, GROUP 1

&
1: " @ 69
% 23
n.2J8,6
| —== =
N
o‘) —| -
& T Al
_ N = ©)
o Y gl
Y]
: o O
Q
Main features
Oil temperature -15+ +80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)

2 x M8 8.8 class steel

Fixing bolts tightening torque: 21 + 25 Nm

Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON

Standard rotation direction: clockwise (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.

Spare part code Assembly code
E60 60 50 ** H ——— Pump type:
H = H series
Pump type: Size: ; ; .
60 = Group 1 see below table 6,0 :‘lcz;:gc)a Lgf‘gggﬂ:&g

Available range

di Ncl)minr:I nt Peak pressure Intermittent Co:ﬂinuc:us Max speed N Bolts* Spar rt cod Weight
sﬁzz;i?ev]e [bar] pressure [bar] P ﬁf::]' € [rpm] [mm] [mm] pare part code [Kg]
1,2 280 270 250 5000 39,5 M8x55 E60605002 0,50
1,7 280 270 250 4500 41,3 M8x55 E60605035 0,52
2,2 280 270 250 4500 44,2 M8x60 E60605004 0,54
2,6 280 270 250 4500 45,7 M8x60 E60605005 0,56
3,2 280 270 250 4000 51,9 M8x65 E60605006 0,58
3,8 280 270 250 3800 54,1 M8x70 E60605007 0,61
4,2 280 270 250 3500 82,0 M8x100 E60605008 1,05
4,7 260 250 240 3200 83,5 M8x100 E60605009 1,12
6,0 230 220 210 3000 94,3 M8x110 E60605010 1,22
7,4 230 210 190 2000 97,5 M8x110 E60605012 1,80

* A washer is always fitted to ensure correct bolt engagement

www.hydronit.com

EPB2016/1-C050




)il_.]drunit®
SECTION C

sales@hydronit.com - +39 02 320 625 145

H SERIES HIGH PRESSURE GEAR PUMPS, GROUP 0

o
9.7 % 50
m
: " f\j 2055 1
n. s
_\
i} O 5 o)
-
Q
ik O
© 0
Q SIEe2)
e O O) 8l &
Main features 5
Oil temperature -15+ +80 °C
Inlet pressure 0,7 <P < 3,0 bar
Fixing bolts 2 x M5 8.8 steel class
tightening torque: 25 Nm
Pressure definition Peak pressure: cycle 2's ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON
Standard rotation direction: clockwise rotation (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.
Spare part code Assembly code
E60 50 50 ** HM ——— Pump series:
HM = H series
ggT%type:o Non;)mlal s;zz; 08 |—— Nominal displacement
= broup see below table ' cc/rev (see below table)
Available range
Nominal Peak Intermittent | Continuous . :
displacement pressure pressure pressure Ma[xr sr;r)l?ed [mNm] ?:]I::] Spare part code V\Ef('g]ht
[cc/rev] [bar] [bar] [bar] P 9
0,1 210 180 160 7000 31,9 5x45 E60505001 0,26
0,2 220 200 180 7000 32,3 5x45 E60505002 0,27
0,4 240 220 210 7000 32.8 5x45 E60505004 0,27
0,6 240 220 210 7000 34,4 5x45 E60505006 0,28
0,8 240 220 210 7000 36,1 5x45 E60505008 0,29
1,2 240 220 210 5000 38,9 5x50 E60505012 0,31
1,5 240 220 210 5000 41 5x50 E60505015 0,32

Other gear pumps with different pressure and speed available upon request.

* Washers may be fitted to adapt bolt lenght

www.hydronit.com

EPB2016/1-C060




- ®
sales@hydronit.com - +39 02 320 625 145 )’l_.ldl"ﬂnlt

SECTION C

KL SERIES GEAR PUMPS, GROUP 1

‘8 - N -
|
of T
Q 4
- =
=
Q
Option: relief valve |
- 3/8” BSPP (KL type)
/= @
~41ofeL
Main features
Oil temperature -15+ +80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)
.. 2 x M8 8.8 class steel
Fixing bolts tightening torque: 21 + 25 Nm
Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON
Standard rotation direction: clockwise (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.
Spare part code Assembly code
E60 60 42 ** KL Pump type:
— KL = KL series
Pump type: Size: 12 —— Nominal displacement:
60 = Group 1 see below table ’ (cclrev) see below table
v+ | Optional relief valve:
where ** = (bar max)

Available range

ot prososre| "pesso | oasme Woxspeed] & [ pons: | sparopat |
(cclrev) (bar) (bar) (bar)
0,9 250 230 200 4500 60 M8x75 E60604201 0,73 Kg
1,2 250 230 200 4500 61 M8x75 E60604202 0,75 Kg
1,6 250 230 200 4500 63 M8x80 E60604235 0,77 Kg
2,1 250 230 200 4500 65 M8x80 E60604204 0,79 Kg
2,7 250 230 200 4500 66 M8x80 E60604205 0,82 Kg
3,2 250 230 200 4500 70 M8x85 E60604206 0,86 Kg
3,7 230 210 180 3600 72 M8x85 E60604207 0,88 Kg
4,2 230 210 180 3600 74 M8x90 E60604208 0,90 Kg
5,0 210 180 140 3000 76 M8x90 E60604209 0,94 Kg
6,0 210 180 140 3000 80 M8x100 E60604210 0,98 Kg
7.9 180 140 100 3000 90 M8x110 E60604212 1,10 Kg

Other pumps executions with different pressure/speed ratings are available on request.
* A proper washer is to be forecast to adapt bolt lenght

www.hydronit.com

EPB2016/1-C070




- ®
sales@hydronit.com - +39 02 320 625 145 )il_.]dl'l:lnlt
SECTION C

R SERIES BIDIRECTIONAL GEAR PUMPS, GROUP 0

9,5 %
50
5 N @
< 16
n2@55
, 1
N
B - -\ |
N =
R |8 i Qg
© | T wlo
5| o
: 07 oJd
Main features
Oil temperature -15+ +80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)

2 x M5 8.8 class steel

Fixing bolts tightening torque: 8 + 9,5 Nm
Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON
Spare part code Assembly code
EXE o | o
RM = R series
ggT%type:o Slzet:) ow tabl 13 |—— Nominal displacement:
= broup see below table ’ (cclrev) see below table
Available range
dis';‘l’arziennilent pr::::re Intermittent c;p:isnsl::: ® Max speed N Bolts* Spare part code Weight
[cc/rev] [bar] pressure [bar] [bar] [rpm] [mm] [mm] [Ka]l
0,3 190 170 150 7000 46,5 M5x55 E60503503 0,42
0,5 190 170 150 7000 49,5 M5x60 E60503505 0,44
0,7 190 170 150 7000 51,5 M5x60 E60503506 0,46
0,9 190 170 150 7000 56,5 M5x65 E60503509 0,48
1,3 190 170 150 5000 59,5 M5x70 E60503513 0,50
1,5 190 170 150 4000 61,5 M5x70 E60503515 0,52

Other pumps with different pressure/speed are available on request.

* A washer is always fitted to ensure correct bolt engagement

www.hydronit.com

EPB2016/1-C080




- ®
sales@hydronit.com - +39 02 320 625 145 )il_.]drl:lnlt
SECTIONC

K SERIES DOUBLE GEAR PUMPS, GROUP 1

Shaft max torque 21,5 Nm o

12 o
_ 54 - %)

18 g
™

@32

Common 3/8” BSPP inlet port (on the rear cover) alternatively individual side inlet ports are available

Main features Choosing the right pump combination:
i . - Check that the power request of the front element is equal to or higher than
Oil temperature -15+ +80 °C the rear one
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure) - Pump performance and features are the same as the details of the
corresponding single pumps
- 2xM88.8cl teel ) . . .
Fixing bolts tightening )t(orque: 2‘1: isgs ,3; - Double pump maximum rotation speed is determined by the lowest speed
. ) among maximum rotation speeds of each single pump.
Pressure definition ,nterm“f;nikp‘:;‘;gjfg?-c§ggezg23':, - Torque applied on the shaft of the front pump is the sum of the torques
Continuous pressure: cycle always ON requested by the two pumps (see above diagram); this value must never go

over the limit allowed for the shaft (21,5 Nm).

Spare part code Assembly code
| E60 60 ™~ HL| K | Pump type:
‘ ‘ e — K = K series
Pump type: Size: 1,2 ——— Displacement 1st section
60 = Group 1 see below table —_—
+
5 —— Displacement 2nd section
HL |—— Option:
Hi - Lo execution

Available range

Nominal Peak . Continuous . .
. Intermittent Preset unloading| Max speed N Bolts** Weight
d'f’[)li‘;gc]e n er: :rL]' re pressure [bar] pr[e: ::‘]' re pressure* [bar] [rpm] [mm] [mm] Spare part code [Kg]l
0,9+3,2 250 230 210 4215 1750 128,3 M8x160 E60600932HL | 2,12
1,2+5,0 250 230 210 425 1750 141,3 M8x160 E60601250HL | 2,29
Torque absorbed
T 20 79| 60 HI-LO . . .
Z. 18 7 / This is an efficient and energy saving solution for
] / / applications where a fast approach and a high
g 16 50| 42 pressure working phase are needed (industrial
F s / ’ presses, garbage compactors, balers,...).
/ /3'7 During the high speed phase both pumps are
12 / 13,2 supplying flow to the system while during the high
10 2|7 pressure phase, the low pressure pump is discharged
/ / 21 back to tank with no load.

8 / This solution can be conveniently assembled with our

6 1 UA or UB or U4 central manifold without any

. / [ —1p additional kit. Ask to our technical office for more

7 —— 0.9]ccirev] details.
2 7 —
0 50 100 150 200 250 p|[bar]

Other pumps with different pressure/speed are available on request.
* Preset value unloading valve can be adjusted between 15 - 60 bar.
** A washer is always fitted to ensure correct bolt engagement

www.hydronit.com

EPB2016/1-C090




- ®
sales@hydronit.com - +39 02 320 625 145 )’l_.ldl"ﬂnlt

SECTION C

S SERIES HELICAL ROTOR PUMPS FOR HIGH PRESSURE, HIGH FLOW AND LOW NOISE
APPLICATIONS, GROUP 1

[a N
% 64
12 o0 - —
8 N 2
| I
!
m - —
S ™
\ N
=)
Q
Y
Main features
Oil temperature -15+ +80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)
Fixing bolts 2 x M8 8.8 class steel
tightening torque: 21 + 25 Nm
Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON
Standard rotation direction: clockwise (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.
Spare part code Assembly code
S60 60 30 ** S | Pump type:
S = S series
Pump type: Size: 6.4 |—— Nominal displacement:
60 = Group 1 see below table ’ (cclrev) see below table
Available range
Nominal . Continuous . .
. Peak pressure Intermittent Max speed N Bolts* Noise level Weight
dlsg(a:;:rzr:]ent [bar] pressure [bar] prfbsas:]lre [rpm] [mm] [mm] [dbA]** Spare part code [Kd]
2,2 270 250 210 3000 66,2 M8x80 50 S60603004 0,85
3,2 270 250 210 3000 69,9 M8x85 51 S60603006 0,9
4,3 270 250 210 3000 81,6 M8x100 52 S60603008 0,95
5,0 270 250 210 3000 83,8 M8x100 52 S60603009 1,1
6,4 250 200 200 3600 93,6 M8x110 57 S60603010 2,03
8,3 215 195 153 3600 98,6 M8x120 57 S60603012 2,08
10 190 170 126 3600 103,6 M8x120 57 S60603014 2,12
13 160 140 99 3600 110,5 M8x140 57 S60603016 2,15
§ 100% o [ Volumetric 70 Y
o o S ! . I Gear pumps
S 90% —~ Mechanical = —T |
i Overall I 65 I G and K type
Y so% % — 1 | | | | | | | L.
% e N R N I e = elical rotor pumps
0% P e e S e s I I S type
L 55
60% 2
1000 1500 2000 [rpm]
50 100 150 200 250 [Bar]
**The noise level is for guidance only since it depends on the values of the
Note: reference values measured at 1500mpm with oil ISO VG 46 cStat 40 ° C. resonance of the mounting structure and other components of the system.

* A washer is always fitted to ensure correct bolt engagement

www.hydronit.com

EPB2016/1-C100




- ®
sales@hydronit.com - +39 02 320 625 145 )’g dl"ﬂnlt

www.hydronit.com




sales@hydronit.com - +39 02 320 625 145

)igdrunit®

SECTIOND
ACCESSORIES

The VMDC20 relief valves can be mounted in KL
gear pumps rear cover as option

The foot mounting support is the same used in

PPC range and is available with two different
heights

Pressure gauges, flow control and check valves can be

mounted in-line on the electropumps pressure port with
proper nipples and adapters

Q&A

Are these accessories shared with the mini and micro power packs ranges?

Yes. Hydronit consistent engineering is translated in a reduced humber of modular parts and accessories to fit all ranges: Power Pack
Compact series, Power Pack Micro series and Electropumps.

Stockist distributors keep spare parts in stock and are able to assemble very quickly the required unit according to the actual market
demand

www.hydronit.com

EPB2016/1-D000



- ®
sales@hydronit.com - +39 02 320 625 145 )’l_.ldl"ﬂnlt

SECTIOND

VMDC20 - DIRECT ACTING RELIEF VALVES

27,5 16,5 19
< ——
)
L N~ ‘ @
> -
5/ P> ——
©| oy e
<Y
@ Q Hex. 3
T Hex. 24 / Hex. 10
-—1 Spare part code Assembly code
|
P ] T _
%v VMDC — Relief valve YAk
where *** stands for max setting
| . . pressure [bar]. Ex. V200
Main features 20 N;(;llmza(; ;:]:ﬁ] where ¢ is the option
Max pressure 350 bar P .
Max flow 20 l/min B — Working range:
Weight 0,14 kg L A=0+ 30 bar ] »
B =20+ 100 bar Mounting cavities
C =50 + 200 bar
Recommended tightening torque: 40 Nm D =150 + 350 bar 1
Recommended filtration: 25 + 50 p . . 3
Oil temperature: -30 + + 80 °C optlon-
1 = screw (std)
2 = handwheel
3 = with cap Note: cavities 3, 4 and 6 are present
4 = plastic seal on central manifold type UB only.
Minimum setting pressure Pressure vs Flow
§ 420 § 420
o o D
<] 350 350
280 280
D
C
210 o 210
L~
C
140 / 140 B
70 = //B 70 A
—_— A
0 0
4 8 12 16 20 4 8 12 16 20
Flow [I / min] Flow [I / min]

Note: Values measured on valve alone (no cavity) with an oil
viscosity of 46 cSt at 50 °C. Pressure drop may change
depending on fluid viscosity and temperature

www.hydronit.com

EPB2016/1-D010




)il_.]drunit®
SECTIOND

sales@hydronit.com - +39 02 320 625 145

ACCESSORIES

Dimensions in mm (inches)

In line mounting SAE 8 manifold Foot mounting support
38 (1,50) 6 (0.24) 34 (1,34)
3/4-16 UNF — | —
- L | @
I i iy ) ‘ =
o) i T 5
N R R
o o :
- ©®
; N.2 holes @ D
0 124 (4,88) N. 4 holes @ 9 (0,35)
I ] Ve
\ (Y \\
2 N
§ @ N @
t
© < §) | | o
S
™ 3 3
J | - o |
50 (1,97) - ~ 11 EN
N\ Y
140 (5,51)
Spare part code D Weight Spare part | B c D | Weight
code
BFCSAE0801 1/4 BSPP 0,16 Kg
79 95 60 9
E60543003 0,35 Kg
BFCSAE0802 3/8 BSPP 0,16 Kg (3.11) | (3.74) | (2,36) | (0,35)
124 140 82 1
E60543006 (4.88) | (551) | (3.23) | (0,43) 0,50 Kg
Note:
- E60543003 must be used only for EPB80
- E60543006 must be used only for EPB114 and EPB125

www.hydronit.com

EPB2016/1-D020




sales@hydronit.com -

ACCESSORIES

Gauge isolator F-F

EMILO1C

1/4 BSPP
1/4 BSPP

Weight: 0,14 Kg. Max working pressure: 400 bar

+39 02 320 625 145

SECTIOND

EM9001C
1/4 BSPP

Spare part code

EM9001C / EMILO1C

Pressure gauge

Spare part code

MIR63***

***=max pressure in bar (60, 160, 250, 315 bar)

Diameter 63mm
Attachment 1/4BSPP
Protection degree IP 65
Thermal drift +0,04%/1K a 20°C
Weight 0,206 Kg
Static working pressure 75% end of scale
Peak working pressure end of scale
Working temperature -10 + +60°C
Precision class cl. 1.6 EN837-1

EPB2016/1-D030

)il_.]drunit®

In-line check valve

—
. ‘
ol 1 \ 2 0 -
Y /| r
= ‘
Spare part code D Ch L |Weight
VURO1C 1/4BSPP | 19 | 55 | 010kg
VURO02C 3)8BSPP | 24 | 65 | 018kg
9/16- 19 | 58 | 010kg
VURSAE06C 18UNF | (0.75) | (2.28) | (0,22 Ib)

In-line bidirectional flow control valve

J L25 (0,98)
Spare part code D E L | Weight
STBO1 1/4BSPP | 68 54 | 0,29 kg
STBO02 3/8BSPP | 68 54 | 0,27 kg
68 54 | 0,30 kg
STBSAE06 9/16-18UNF | 5 65y | (2.13) | (066 Ib)

www.hydronit.com



Hydronit’

ﬁ via Pastrengo 62
STNet = 20814 Varedo (MB), Italia
Qo cisQ B: +39 0232 0625 145
+39 0362 1841 210
Ell: +39 0362 1841 214
® : info@hydronit.com MADE IN BRIA%ZL';A
www.micropowerpacks.com

www.hydronit.com

Hydronit communicates only © Hydronlt Srl - A” r|ght$ reserved
with eco-friendly paper Printed in Italy. Edition 2016-01EN

FIERin

IMPORTANT NOTE: All information contained in this catalogue are subject to change without notice. Images are not to scale.
The terms and conditions of sale, downloaded from www.hydronit.com, including limitations of our liability shall be applied to all
products and services sold.



	Pagina 1
	Pagina 2
	Pagina 3
	Pagina 4
	Pagina 5
	Pagina 6
	Pagina 7
	Pagina 8
	Pagina 9
	Pagina 10
	Pagina 11
	Pagina 12
	Pagina 13
	Pagina 14
	Pagina 15
	Pagina 16
	Pagina 17
	Pagina 18
	Pagina 19
	Pagina 20
	Pagina 21
	Pagina 22
	Pagina 23
	Pagina 24
	Pagina 25
	Pagina 26
	Pagina 27
	Pagina 28
	Pagina 29
	Pagina 30
	Pagina 31
	Pagina 32
	Pagina 33
	Pagina 34
	Pagina 35
	Pagina 36
	Pagina 37
	Pagina 38
	Pagina 39
	Pagina 40
	Pagina 41
	Pagina 42
	Pagina 43
	Pagina 44
	Pagina 45
	Pagina 46
	Pagina 47
	Pagina 48
	Pagina 49
	Pagina 50
	Pagina 51

